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DIPLOMA IN ELEMENTARY EDUCATION 
(D.ELEcL) 

Term-End Examination 

December, 2017 

BES-001 : UNDERSTANDING THE ELEMENTARY 
SCHOOL CHILD 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
Discuss the role of family as a component of the 
social world of a child. Explain the impact of 
parenting on children. 

OR 
Discuss the place of school, as a socializing 
institution, in the lives of children. Give 
appropriate examples. 

2. Answer the following question in about 
600 words. 
What is the meaning of child development ? 
Describe the relevance of knowledge regarding 
the aspects/dimensions of development from a 
teacher's point of view. 

OR 
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Discuss factors that hinder physical development 
in children and the role of school in promoting 
such development. 

3. Answer any four of the following questions in 
about 150 words each. 

(a) Differentiate between 'norms' and 'values', 
using suitable examples. 

(b) Discuss the importance of peers in a child's 
life. 

(c) Identify a common problem of your 
classroom and suggest a suitable tool to 
carry out further research to enhance your 
understanding of the problem. 

(d) Describe Piaget's concept of cognitive 
development. 

(e) Discuss the key policies and programmes for 
marginalized children. 

(f) 'Gender is a social construction. Elaborate. 

4. Answer the following question in about 
600 words. 

What do you understand by an "inclusive 
classroom" ? As a teacher, what strategies would 
you adopt to create an inclusive learning 
environment ? 
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